
E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

ITEM MODEL
48246 VP-IT-0005



E L E V A T I N G  C U L I N A R Y  E X C E L L E N C E

PARTS BREAKDOWN

Item No. Description Position Item No. Description Position Item No. Description Position

AR219 On/Off Switch Comelux 401/L 
for 48246 2 AR234 Curve 90°Inn.Rap.1/8 T. 8 for 

48246 18 AR249 Plexiglass SP Vertigo Cover for 
48246 33

AR220 Locking Knob M8 for 48246 3 AR235 T Joint F 1/2 M 1/2 W8 for 48246 19 AR250 Right Side W8 30 for 48246 34

AR221 Vacuum Pump 4 CBM 1x200-240 
50/60Hz for 48246 5 AR236 Nipple M1/2 M1/8 for Gun SP for 

48246 20 AR251 Side of Bath Right SP Liquid for 
48246 36

AR222 Magnetic Microswitch 
DP08P1ABA0050 for 48246 6 AR237 Conical Nipple RA 123812 1/2 

3/8" for 48246 21 AR252 Vertigo Thickness 110V ETL for 
48246 37

AR223 Controls PCB W8 for 48246 7 AR238 Air Intake W8 for 48246 22 AR253 Side of Bath Left SP Liquid for 
48246 38

AR224 Black Plate Easy Touch No Gas 
for 48246 8 AR239 Air Intake W8 for 48246 23 AR254 Hinge Cover. Plex for 48246 39

AR225 Transformer, W8 for 48246 9 AR240 Extension F/M Conical RA016 
1/2-1/2 for 48246 24 AR255 Vertigo Cover Rod for 48246 40

AR226 Piston, Sealing Bar W8 for 48246 10 AR241 Gasket Easyvac 25 for 48246 25 AR256 Headless Screw DIN913 M4x14 
P.PN for 48246 41

AR227 Electric. F 04 Aspir 3V 110V SP 
UL for 48246 11 AR242 Motor Thermal Protection UL 3,5 

A for 48246 26 AR257 Headless Screw DIN913 M8x60 
P.PN for 48246 42

AR228 Electric. F 10 Scar 2V 110V SP UL 
for 48246 12 AR243 Silicon Stopper Holder _ W8 30 

for 48246 27 AR258 Screw TSP- DIN 963 M4x25 for 
48246 43

AR229 Modular Timer 110V UL/CSA for 
48246 13 AR244 Sealing Bar Complete W8 30 for 

48246 28 AR259 TSP Screw - DIN 963 M6x25 for 
48246 44

AR230 Foot M6 25x15 SH 60 SP 25 for 
48246 14 AR245 Front Profile SP 30 Liquid 6MT 

for 48246 29 60081 Screw Poeliers M6x10 for 48246 45

AR231 Silicon Bar Stopper, W8SP30 for 
48246 15 AR246 Rear Profile SP 30 Liquid 6MT for 

48246 30 62606 PG 11 Plastic Cable Gland for 
48246 46

AR232 90° Bend Inn.Pist.Pipe Rap. D08 
for 48246 16 AR247 SP Liquid Backpack for 48246 31

AR233 Connection T Inn.Rap Pist. Pipe 
D08 for 48246 17 AR248 Aluminum Bathtub SP Liquid 

Anodized. for 48246 32

ITEM MODEL
48246 VP-IT-0005


